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@D -1<cosx<0 @ 0<sinx<1
® 0<tanx<1 @ -2<sinx<-1

B —1<cosx<0
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(sin) (cos (tan)

52° 0.7880 0.6157 1.2799
GEN 0.7986 0.6018 1.3270
54° 0.8090 0.5878 1.3764
G 0.8192 0.5736 1,4281

@D 1.1932 ® 1.1933 ® 1.1934
@ 1.1935 3 1.1936
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@® siny =sinz @ cosy = cosz
® tanx = tanz @ cosz =BD

3 tanx = CE
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8.  sin90°+cos0° —tan0° = A , sin0° + tan 0° + cos 90° = B 2 & o,
AB 9] 3127

@D -2 @2 -1 3 0 @ 1 B 2
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0°<x<90°¥ W, ct

@ sinx > cosx

@ cosx > tanx

® sinx o] FHZR2 10t

@ tanx o] FYgHE 100t

® x9] Zro]l AAH cos x 2] FFE AHAZIT}
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® tan45s° @ sin40° @ sin45°

@ cos 30° 3 cos 40°



12. 0°<x<45° & o, /(1 -tanx)? 9] F2?

@D 1-tanx @ tanx+1 @ tanx -1
@ 1 3 0



13.  /(cosA-1)2— /(1 +cosA)? O] Ft27 (T, 0° <A <90°)

D1 @ 2 ® —cosA

@ cosA B) —2cosA



14. /C 7} Az A 44420g ABC oA AB =2, BC =1 &

(sin B+ cos B) (sinA — 1) 9] g7
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15. o Fol 85 Bl x4y o] g5 F6HH?

2te sin cos ‘ tan

14° 0.2419 0.9703 0.2493
15° 0.2588 0.,9859 0.2679
16° 0,2766 0,9613 0,2867

sin x = 0.2766 , tany = 0.2493

@ 28° @ 29° 3 30° @ 31° ® 32°



16. Tt 12°] AABC 9|A

@D 6.82

AF7}

(Af2tulol #)
z sin = cos T tan z
43° | 0.6820 0.7314 0.9325
44° | 0.6947 0.7193 0.9657
45° | 0.7071 0.7071 1.0000
46° | 0.7193 0.6947 1.0355
47° 0.7314 0.6821 1.0724
? 6.947 3 7.071 @ 7.193

3 7.314



e sin cos tan
44 0.6947 0.7193 0.9657
45 0,7071 0,7071 1,0000
46 0,7193 0,6947 1,0355
® 1.022 @ 6.947 ® 7.071

@ 9567 ®3 10.355
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Zo]7F 1 ¢l AFEQ A sin 50° 4 tan 50° — sin 40° 2] ZE-&?
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23. x=45°A 0}, sinx, cosx, tanx] NAE H W5},
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24.

V/(sinA + cosA)? + /(cos A —sin A)?
A <45°)

@ 2cosA

@ 1 B 2

@ 2sinA
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0°<x<45° 4 o, V1-2sinxcosx— V1 + 2sinxcosx & 7t
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26. AABC A 0° < A <90°°]2, 2cos A— V3 =0 o, sin A x
o] 3 FobH?
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27. tan(2A-30°) = V3 & @, V2(sin A + cos A) - 2 ] L& Fatolt.
(2 0°<A<90°)
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28. o= A7 BE HA Fol 2 WSk x ©F 2y ofl tisto]
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<Z7A O>sinx = 0.2588
<Z7A @>tany = 0.3640

2 AOl(sin) | AFQ!(cos)| EHAI E (tan)
14° 0.2419 0.9703 0.2493
15° 0.2588 0.9659 0.2679
16° 0.2756 0.9613 0.2867
17° 0.2924 0.9563 0.3057
18° 0.3090 0.9511 0.3249
19° 0.3256 0.9455 0.3443
20° 0.3420 0.9397 0.3640
21° 0.3584 0.9336 0.3839

1) 928° ® 30° B 392° @ 35° B 40°



29. T}L2 AtZtH| o] HE 0] 85} sin15° + tan 16° — cos 14° 9] ZF&
stolet,

2t AFQI(sin) TAl(cos) | EtMIE(tan)
14° 0.2419 0.9703 0.2493
15° 0.2588 0.9659 0.2679
16° 0.2756 0.9613 0.2867
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Lx+ 1y ©) 271 Fatolat,
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sin

(¢{0)]

tan

14°

0.2419

0.9703

0.2493

15°

0.2588

0.9659

0.2679

16°

0.2756

0.9613

0.2867

17°

0.2924

0.9563

0.3057

18°

0.3090

0.9511

0.3249

19°

0.3256

0.9455

0.3443

20°

0.3420

0.9397

0.3640

21°

0.3584

0.9336

0.3839
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sin x = 0.2588

tany = 0.3640
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o2 19 9] AABC ©f|A 4FZtH] 9]

. AABC o] =8 ¢] ZolE
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34°
A

Zte sin cos tan

54° 0.8090 0.5878 1.3764

55° 0.8192 0.5736 1,4281

56° 0.8290 0.5592 1.4826
D 5.592 @ 8.29 ® 13.882
@ 923.882 3 29.107



b94 371%.

@D 0°
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V3+1x+ V3=09 F &2 tana, tanb 2t3L
(&, tana < tanb , a,b = 1Z})

@ 30° B3 45° @ 60° ® 80°
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33. o3 2"} o] gtz 59] Zolrt 1l AFEYel A o FE o835t
o] 100x CD 9] Zo|& Fstoizt,

y A (phztd|e| ®)
A(1,2.14)
1 T sin z| cos z | tan =
C

63° | 0.89]0.45 | 1.96
64° | 0.90| 0,44 | 2.05
65° 1 0.90] 0.42 | 2.14

0 D B(1,0) g6 | 091|041 225




